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Suppose a particle’s position is described by the vector 1,(4)— (t =3, In(t + 1)>

Answer the following.

1. State the domam of the vector functlon F(t). ; P |
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2. Find the vector that lepreseltts the velocity of the pamcle at any time /.
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3. How fast is the particle moving in the vgrt’ical direction when 7 = 2,
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4, Find the vector that leplesents the acceleration of the paltlcle at any time .
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5, Find a function g(r) that represents the particle’s speed at any time .
\ v T 2 g 2
BI%: (l Vi \){v(v)] FIvin))



6. Find the speed of the particle when ¢ = 2.
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7. Is the paltlcle speeding up or slowmg down when =27
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8. Find the total distance traveled by the particle on the interval 0 <7< 3.
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9. Find the tota] digplacement'by the particle on the interval 0 < < 3.
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10. Sketch the path defined by #(f) on the interval 0 </ < 3. Using appropriate initial points, sketch the
7(2), v(2), and a(2) vectors on the path. |
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Suppose a particle’s velocity is described by the vector v(¢) = (e’ ,sinf>. Answer the following.
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11, Find the vector that represents the position of the particle at any time  given 7(0) = (l
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12, Find the vector that represents the acceleration of the particle
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3. Find the speed of the particle when 1 = n/2.
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14. Find the total distance traveled on the interval 0 < < .
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15. Find where the maximum speed occurs on the interval 0 </ < .
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Find the vector that represents the velocity of F(1) at any time f
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20, Sketch a graph of 7(f). In the same window, include the graphs of #(1). v(1), and (1)

21. Find the speed of the particle when 1 = 2. _
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Suppose a particle’s x- and y-components’ velocities are defined as?‘d—f =sin/ and »% ={cost. Answer the
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27.  Find the particle’s coordinate position when 7 = 1.
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28. Fll}d the speed of the partlcle when 1 =2,
P gy Nz = 1.923920.0
pecc= [t Hteest ¥ = 1-23209

L

29. Find the acceleration vector of the particle at any time /.
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30. Is the particle speeding up or slowing down when ¢ = 1.5?
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